
ABC, X
1. If CW = fi CX and

2. If BX = 8, fi and

3. If = 3, fi AX and

Is median, an altitude, neither? Explain.
4. 5.

6. 7.



Geometry Week 17 Tuesday Warm-up

State the opposite of what you want to prove as a temporary 
assumption.

Assume that at least one of the base angles is a right angle.

Show that the assumption leads to a contradiction.

The base angles are congruent.

Then both base angles are a right angle which measures 90ο

180 degrees

The sum of the measures is greater than 180.

The Triangle Sum Theorem

The assumption is false. Therefore, neither base angles is a right 
angle.


